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General Instructions :

Read the following instructions carefully and follow them :
(i) This question paper contains 34 questions. All questions are compulsory.
(i1) Question paper is divided into five Sections — Section A, B, C, D and E.

(iit) Section A — question number 1 to 21 are Multiple Choice type Questions.

Each question carries 1 mark.

(iv) Section B — question number 22 to 27 are Short Answer type Questions.
Each question carries 3 marks. Write answer to each question in 60 to 80

words.

(v) Section C - question number 28 to 30 are Long Answer (LA) type
Questions. Each question carries 8 marks. Write answer to each question

tn 300 to 350 words.

(vi) Section D — question number 31 to 33 are Source-based Questions

having three sub questions. Each question carries 4 marks.

(vii) Section E — question number 34 is Map Based Question that includes
the identification and location of significant test items. This question

carries § marks. Attach the Map with the answer-book.

(viii) There is no overall choice. However, an internal choice has been provided
in section B and C of question paper. A candidate has to write answer for

only one of the alternatives in such questions.

(ix) In addition to this, NOTE that a separate question has been provided for
Visually Impaired Candidates in lieu of questions having visual inputs,
Map etc. Such questions are to be attempted by Visually Impaired
Candidates only.
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1. gemHfausgedd afafga i a s ar s adi g ¢ 1

(A) 8 ferfa qurigsniies of |

(B) ¥« ¥ g forefl Sreft o |

(C) =9 fefy <1 arvft G UG AT ST HhT B |
D) safaftigs & AT g |

2. BESWIHdI % A WA RS s gd & Ifeeu i 8 2 1
(A) AT 3R AT (B) Iqers 3 eye
(C) sHTEe 3R =fore™ (D) Hee IR TS

3. g1 %Y feu U §, SAfEReH (A) 3T SR (R) | HUAT I UG 3R T& faeheq &1
T ST ; 1
AMNFYT (A) : T o SR H IR ITh! g o TG Wi Si1g W dsfl & el |
FA(R) : N HEGhICA =fifeh Jomali & oswgE I s PFT A ¥ T @

TR SEeTEl | IS H ST @ o |
Torepe
(A) (A) 3R (R) &I HEl & 3R (R), (A) ! el AN HTAT 2 |
B) (A) IR (R) THi &l & TG (R), (A) ! T€! AT el i ¢ |
(C) (A) TEE, wg (R) o1 & |

(D) (A) T B, Wg (R) eI 2 |
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SECTION - A
(Multiple Choice type Questions) 21x1=21
Which of the following is correct regarding Harappan script ? 1

(A) This script was alphabetical.
(B) It was written from left to right.
(C) This script has not been deciphered so far.

(D) This script has a few signs or symbols.

In which of the following sites of Harappan civilization, the terracotta

models of plough have been discovered ? 1
(A) Kalibangan and Dholavira (B) Shortughai and Lothal
(C) Banawali and Cholistan (D) Sanghol and Rakhigarhi

Two statements have been given below as Assertion (A) and Reason (R).

Read the statements and choose the appropriate answer : 1

Assertion (A) : Buddhism grew rapidly both during the lifetime and
after the death of Buddha.

Reason (R) : Many people were dissatisfied with existing religious
practices and confused by the rapid social changes taking
place around them.

Options:

(A) Both (A) and (R) are true and (R) is the correct reasoning of (A).

(B) Both (A) and (R) are true but (R) is not the correct reasoning of (A).

(C) (A) 1s true, (R) 1s untrue.

(D) (A) is untrue, (R) is true.
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4. 99 94 9 geig fFafafad s o ufen st o) foered w1 <[ Hifs
I 59 3R e o1 =15k i o g Rerifa 2ar g |
II. TER S AN hl AEIIHAT 2 |

II1. et ifed = fore wefies 1feaca ueh srfaem frm 2
IV. 3AfEan o1 g gaequi 2 |

faeey
(A) I, 113 III (B) IIL III3WIV
(C) I, II3RIV (D) I, II3RIV

5.  TH-1 1 faetH w9-11 8 hifse 3t Frafafad 3 9 928 faesrea 1 =3 Hife

wWH-1 -1
(ST HETSAYS) (I &)
a. WY I YR (& STRE)
b.  3mEfd IL  3PRea (3T ve)
c. TR 1. e (feEr)
d.  =m@ IV. 3Ssoi (e 9er)

erehen

a b ¢ d
A mIm I 1 oIv
@B Iv 11 1 II
© I v 1 1II
) 11 1 I 1v
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4. Consider the following statements regarding Jainism and choose the
correct option : 1
I. The cycle of birth and rebirth is shaped through Karma.
II. There is a need to renounce the world.

III. Worldly existence is a necessary condition for attaining salvation.

IV. Principle of Ahimsa is important.

Options :
(A) I,II and III (B) IL III and IV
(C) I, ITandIV (D) I, III and IV

5.  Match Column-I with Column-II and choose the correct option from the

following : 1
Column-I Column-II
(Ancient Mahajanpadas) (Present Region)
a. Magadh I.  Qandhar (Eastern Afghanistan)
b. Avanti II. Ayodhya (Uttar Pradesh)
c. Gandhara III. Patna (Bihar)
d. Koshala IV. Ujjain (Madhya Pradesh)
Options:

a b ¢ d
A I m 1 I
@ 1Iv 1II 1 1III
© 1Imr v 1 1II

M M 1 10 IV
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6. gt T sl fAforRad § @ fohg ftrept & fofu ST ST B 2
(A) 379 H It 3R g T 6 TTIRS
(B) W wwTsg hl T 3R sl G <l =
(C) FYEIT= shl Tt 3TR T It <hl harorst
(D) =g fee <l gt 3R arehtees Tt <Al aet

7. Tr=fafaa fom 1 Tg@ wes fififa dfet o g euilE 78 2 | feu 7o forkeul § @ 3w
Tfer it yga™ HifsT

faeT :
(A) <TE HfgT (B) oheTeHTY AT
(C) wETSeig HfeT (D) FEeTR HieT

e : Frafafad o7 Faet gt wWafE F e s d, 73w w )
frmforfiga o & fora T o Sy ufer fa @ 7

(A) IWI (B) dfierTg

(C) wewg (D) 3y we
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6. Prabhavati Gupta is best known for which of the following roles ? 1
(A) Wife of Ashoka and Promoter of Buddhist Sangha
(B) Queen of Mauryan Empire and Promoter of Buddhism
(C) Wife of Samudragupta and Poet of the Gupta Era
(D) Daughter of Chandragupta-II and Wife of Vakataka King

7.  The following picture shows the structure of a temple carved out of single

piece of rock. Identify this temple correctly from the given options : 1

Options:
(A) Deogarh Temple (B) Kailashnatha Temple
(C) Mahabalipuram Temple (D) Brihideshwara Temple

Note : The following question is only for Visually Impaired

Candidates in lieu of Question No. 7.

In which of the following states Kailashnatha Temple is located ? 1
(A) Uttar Pradesh (B) Tamil Nadu
(C) Maharashtra (D) Andhra Pradesh
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8.  ITc1-SEI 1 YW HH ‘fhdTa-3I-Tég’ W & =mueh 31eeE o fote Hgeayul 2 |
Fraferfaa o @ goeht mafies Seva o ?
(A) T T3t <l ST ¢ |
(B) ¥imifeTes M ST AR SFHT |
(C) TEpia 3R Tfca—Tarsii 1 e & |
(D) WA Tl T GEATISHRTT HTAT |

9. IS QT STUH ST AT o GRH SR TER(RT TR FHISH 1 AT Hd H
e o1 | Faferfiga 8 @ S @ Fradn sa9 ged At fasfia i ¢

(A) I IR AR JaeH
(B) HTEHIeh AT SR pleraT
(C) I=mEfes 3 8= I
(D) AR 3T qehi1ehl fererogra

10. TrefcrRaa & & st hifer Beholt 3 T | S & heF TE § 7 Tl fashod o1 = HIfse
I. gt s WmEey 1800 3. H 36k R Jhr™T H @I T |
II. o8 $% Sfeam ot o1 Tk STferehmdy o |
IT1. 36 39 T 1 TgAT Fa&0 HHTes I R |
IV, {SET | sl ST 38 g3TTd sRarEr 8 of |

forpey

(A) I, II 3R III (B) IL III3WIV

(C) I, III3WIV D) I, II3IARIV
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8.  Al-Biruni’s major work ‘Kitab-ul-Hind’ is significant for its comprehensive
study of India. Which of the following was the primary aim of this work ? 1
(A) Promote Islamic teaching
(B) Map geographical locations
(C) Critique culture and traditions

(D) Document Indian culture

9. Throughout his extensive travels, Ibn Batuta was able to explore
unfamiliar cultures and societies. Which of the following competencies did

he most likely develop ? 1
(A) Leadership and Judicial Management

(B) Cultural Competencies and Skills

(C) Knowledge of Administration and Army

(D) Scientific and Technical expertise

10. Which of the following statements regarding Colonel Colin Mackenzie are

correct ? Choose the correct option : 1
I.  The ruins of Hampi were brought to light in 1800 by him.

II. He was an official of East India Company.

III. He prepared the first survey maps of the site.

IV. He received information of Vijayanagara empire from the Duarte

Barbosa.
Options:
(A) I,ITandIII (B) II IIT and IV
(C) L III and IV D) I,ITandIV
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11. ¥-1 1 fiyer wqu-11 @ hifse 3t fefafga 5 8 92 faeme o1 ==a hifse

w-1 wWY-11

(GRIRIED ()
a. ABHE Ffwfa I. wE
b. iU . ==

c.  IASG-TSNTH I g
d. fp-g-=i= IV. geeft
Taerey
a b c d
A I IV 1 11
@B II II I 1V
(C I I IV I
D) 1II I III IV

12. 169 3R 173 S1aTed) & WA % SV 3(amd I G0 1 FHHfdied § 9 7@ & HH
e e
(A) ST 3R feeet! o Tord fehie
(B) fepami 3R SHieRi & o= day
(C) 3TTE-T-3Tehal, TTEI¥T 1 HEeaqUl Sioard
(D) 39 HI IS A aTe! i HHA b ThR

13. T=fafeaa @ @ =9 @1 w2F 1641 3R 174 et & wRa & Sl & 9R A g9y
SUZHI & ?
(A) iR feramT % fore siwes st & |
(B) TSI <h! 3T T o ToRd Tha hid I |
(©) Tt s e st e &
(D) I I TSl s&auTet o fore e & B2 ghe B1d I |
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11. Match Column-I with Column-II and choose the correct option from the
following : 1

Column-I Column-II

(Foreign Travellers) | (Countries)

a. Afanasi Nikitin I. Persia
b. Domingo Paes II. Russia
c.  Abdur-Razzak III. Portugal

d. Nicolo de Conti IV. Italy

Options:

a b ¢ d
A I v 1 11
@ I 1m 1 1v
© I 11 1v III
GGy T 1 I 1v

12. Which of the following is a major source to understand agrarian history of
16t and 17t century India ? 1

(A) Revenue records of Agra & Delhi
(B) Relationship between peasants and zamindars
(C) Important chronicle — the Ain-e-Akbari

(D) Types of agricultural crops grown at that time

13. Which one of the following statements is most appropriate regarding the
zamindars of 16th and 17th century India ? 1

(A) The zamindars were the exploitative class for the peasants.
(B) The zamindars collected revenue on behalf of the state.
(C) They always maintained cordial relations with the villagers.

(D) The zamindars had small piece of lands for personal use.
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14. T MY T U, il 1 T Higg 3T o TS § e hl et i yrEfiend
1 AT & | S 1 AHAT 3 Tob I FIEITE TR & STafeh 31 GWHdT 3R W < Sra
T U I HEW I ¢@d ¢ | frefafaa #§ & wh @ ufgws 3 whefit At wrfiesdr
e 3= ANE W Qi g ?

(A) e % Ui Hed waww

(B) ATEATIcHehaT Sl STATE(Teh & UL ==l
(C) <hact TSI HHEST 3T YLOI3T W &
(D) W & Y T GaY ! @IS

15. Frfefaa 8 9 1855 % GTel fogig o1 §& SR0T i 97 o7 ?
(A) THYIT TG T SR
(B) 3T R Ahcieh GHH
(C) re=Tex f3reqT =t o
(D) T =T 3R gy srfemrgy

16. 1793  SEHUL Sqreed o dey H fowy 6t yg=m hifvu |
(A) T B
(B) wcaH i et
(C) T fare
(D) erehet 1 SR
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14. In a modern city, a group of friends discusses the relevance of Kabir’s
teachings in today’s society. Some believe these are outdated, while others
see their significance in promoting equality and love. Which of the

following scenario best reflects Kabir’s relevance today ? 1
(A) A debate on Kabir’s historical context

(B) A discussion dismissing spirituality irrelevant

(C) Focus on societal norms and traditions only

(D) Seeking simple connection with the divine

15. Which one of the following was the main cause of the Santhal Rebellion of
18557 1

(A) Imposition of the Summary Settlement
(B) Cultural suppression by the British
(C) Imposition of Western education

(D) Heavy taxes and land annexation

16. Find the odd one out regarding the Permanent Settlement of 1793. 1
(A) The Sunset law
(B) The Burdwan’s Auction
(C) The Fifth Report
(D) The Deccan Riots Commission
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17. 9-1 1 foer q9-11 9 hife 30t e} faeheq o1 ==  $ifsr

-1 wWH-11
(1857 % Targig 1 gea) (&=)
a. YTEAA I TS
b. P . AR
c. Tafsmag I =<
d. e V. 3

fopea

a b ¢ d
A II 1 v I
B 11 v 1 1II
© m 1o 1 1Iv
D) Iv 11 I I

18. Tr=fafaa Ufaerfe aeisti 1 wesrd § oafem Hifve 3R 98 foshed &1 ===
T :
I gfagw g s o
I1.  IforfaTe ST gemehis

1. YRd SISl 3T

IV. Tiefi-3fea g

Torepea

(A) IL IIL I 3R IV (B) IL IV, Il 3R I

(C) IILII, 13RIV (D) IV, III, I3 II
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17. Match the Column-I with Column-II and choose the correct option : 1

Column-I Column-I1

(Leadership of the (Regions)
Revolt of 1857)

a. Shah Mal I Lucknow

b. Kunwar Singh II.  Kanpur

c. Birjis Qadr III. Baraut
d. Nana Sahib IV. Arrah
Options :

a b ¢ d
A I 1Ir v I
@ I v 1 1II
C m I 1 1Iv
G) Iv. 11 II 1

18. Arrange the following historical events in a correct chronological order

and choose the correct option : 1
I.  Making of the Constituent Assembly

II. Jallianwala Bagh Massacre

III. Quit India Movement

IV. Gandhi-Irwin Pact

Options:
A) ILIOLIandIV (B) ILIV,IIland]I
(C) I IL TandIV (D) IV, II,Tand II
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19. 1798 T &S Jeiwell gRT U <l 15 “Hereh i’ i g fenivan ffefaa o @ @ €
off ?
(A) SIS G T TS Gofel AR HAifer
(B) 37T gRT <3ft BT BT T@E
(C) 3TN g feat {fa— &l %1 A T
(D) IS R oM & hl Gean

20. T=fcTRad & § M @1 g1 guiad § ?

-1 gefi-11
(Gfere™ |1 i e (3TexE o )
gt < )
A) e HfEfd — | .. g
(B) wg wfaq wfdfa — | dfed JaTeeTe 5e
(C) T wfufa — | va. FEEE
D) Ts=EHE — | S e

21. Trafeiaa SR <l TRl § Tfag™ 991 % T %1 T8a™ i :
® JTIYHAW S IR |

® I A WA o Tgel UPafd o |

() T THTFS

(B) feRt &M

(C) . firfe

(D) TS 4G
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19. Which one of the following was a key feature of the ‘Subsidiary Alliance’
introduced by Lord Wellesley in 1798 ? 1
(A) Free Trade Policy brought by British
(B) Maintenance of native army by British
(C) Imposition of Western Customs by British

(D) Protection of native territory by British

20. Which one of the following pair is correctly matched ? 1
List-I List-I1
(Name of Important Committees (Name of President)

of Constituent Assembly)

(A) Flag Committee — | H.C. Mookerjee

(B) Union Power Committee — | Pandit Jawaharlal Nehru
(C) Rules of Procedure Committee | — | S. Varadachariar

(D) States Committee — | J.B. Kripalani

21. Identify the member of the Constituent Assembly with the help of the

following information : 1

® He was the President of the Constituent Assembly.

® He was the first President of the Independent India.

(A) Sarvepalli Radhakrishnan
(B) Zakir Hussain

(C) V.V.Gir1

(D) Rajendra Prasad
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(TTY-ITT TR b TH) 6x3=18

(a) “3TMh % JITEA I GHYH o foTC 3780 o ARG Fod Tewqol €1 & |7 39
Y < AT HINT |
T

(b) T TS 1 3l T |l 9 UG § || 39 e <hl et it |
“$a1-9d JUH Heafeq i hiel forvd sfeemd 3 U Hewequl dig AT ST 8 |7 36 e i
T 38Uy |

(a) 3 HROT 1 forgersor Hifere feh T fostaTR ATHTs %1 qad 53T |
Jrean
(b) STR-TTIH YUt ISR o= <t U Y@ TSHIfds @ie = q} STt 8 2
fergersor sHifSr |

T A b QR 3TH AT o JTIRR hi Tehleid hid H T=mad hl Y{HehT 1 @
I |

“1857 % o518 %1 U I o & H <@ S @1 o1 [ Tégati 3R qeeti QI o1 %I
THTH S AT |” 38 2 1 fogeryor Hifu |

GfagT 991§ . 1. 3TR. 3Tt h fHehT 1 9uH HIfT |
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SECTION - B

(Short Answer type Questions) 6x3=18

22. (a) “Ashokan inscriptions are the most significant sources to understand

the administration of Ashoka.” Explain the statement. 3
OR

(b) “The history of Mauryan empire has been constructed on the variety

of sources.” Explain the statement. 3

23. “The mid-first millennium BCE is considered as a significant turning

point in the course of World History.” Justify the statement. 3
24. (a) Analyse the causes that led to the ruin of Vijayanagara empire. 3
OR

(b) Analyse why was Amaranayaka system considered as a major

political innovation of the Vijayanagara empire. 3

25. Examine the role of Panchayat in advocating for the rights of common

people during the Mughal era. 3

26. “The rebellion of 1857 was seen as a war in which both Hindus and

Muslims had equally to lose or gain.” Analyse the statement. 3
27. Describe the role of Dr. B.R. Ambedkar in the Constituent Assembly. 3
61/1/1 Page 21 of 32 P.T.O.

%




& 38 o
Qug - T

(e -3T TR % T ) 3x8=24

28. (a) ‘“HEYRA HIcT o QI TTHETIEh Fwdl ! e TE fomivard gt off 17 38 %A i
ST IeTeX0T Hfgd i |

A

(b) “TIca &3 Pl H T o W =G & FR e o sfess I8 & 39 =afaa & ot
BT A1 S {0 3R FE1eH JT Heh |7 39 YA <hl ST B! IaTea] 3.9,  91¢
% 3CTEWT |fed I |

29. (a) TEHS ¢d hl T A1l 3R franati 1 =men Hifve |
HAYET

(b) TEIHTA % S WRA § Fafve <t g r=ransti 3 frensti it smen Hifvw |

30. (a) 1915 % 1931 deh WA H TER (AT o YA SHAT W I8 T T fargeiso
sHife |

YAl

(b) WA 3 TITAAT h TG WS i fireht 1 fergeryo HI |
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SECTION -C

(Long Answer type Questions) 3x8=24

28. (a) “There were specific features of the familial relationship during the

Mahabharata period.” Explain the statement with examples. 8
OR

(b) “The political power or kingship was rarely dependent on birth as
Kshatriyas but also open to anyone who could muster support and
resources.” Explain the statement with the examples from sixth

century BCE onwards. 8

29. (a) Explain the main beliefs and teachings of Guru Nanak Dev. 8
OR

(b) Explain the major beliefs and teachings of Chishtis during medieval
India. 8

30. (a) Analyse the impact of national movement in India from 1915 to 1931

on the Indian masses. 8
OR
(b) Analyse the role of Gandhiji after independence of India. 8
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(B-TETRA 9% ) 3x4=12

31. feu e Ed 1 ey ufer 3R = fou T et o 3w fofau
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3T T @ISt 718 NI STt

ATferl o fowy # #ek fofgd 2 ¢ “fifvad &9 @ 98 319 d% @isft 715 |elen /00
T JoTTeft & |7 B STTaT TTeft <t ATfera & SISt TR T | g Aol TR § SuTE I g2
T 9 3R 3¢ UEl 31 T Eop1 T o R THIE o foTT gere S Tk | 9 TUH W EehA
o foTT T qeer 31 afgeht o1 SR foha T o | =X <l A1foral et Ueh 21t a1 Wetshs H
et gt off foem 318 qerel ST 21 ST o7 3R a1 I el shi Arferi § 9 S o |
Sgd el el H $ JAaUell 9 BT o foru i s+ 7 i | 38 gudcs 1 Th SIS
& g fop ‘T, T&AA: W o BR-BIC & AHIRI: HebTE % ATl o STA-TA U8 et
&N T &..... T T 31 HHTS o WG FHall i GHIAT G AT SITar o |7

3T ek, 3T 38 FATacTIgorer, 1948

S FreRr oot shaet arg el e & St a8 off afcsh 3 s Biel afei o
off fireft off | SeTRwer % forw; ierer & srramat & fmior 3 fore et et 32t 61y g
o1, SR1 AT varehl 321 § &S TS off |

31.1 TSI % Vgl H A Fhrefl Tomferi § Teh&qdt o e TWTferd ShRUT 1 3Teheld
HIfT |

31.2 S et o T < TohR 3 o X firer o ffaamel w1 fawemwor sifs |

31.3 TSI I [HehTE JUMTeHt o SHTEl ShT HTeheid ShIT, |

Page 24 of 32

[y




& 38 o
SECTION -D

(Source Based Questions) 3x4=12

31. Read the following source carefully and answer the questions that follow :

The most ancient system yet discovered

About the drains, Mackay noted : “It is certainly the most complete
ancient system as yet discovered.” Every house was connected to the
street drains. The main channels were made of bricks set in mortar and
were covered with loose bricks that could be removed for cleaning. In
some cases, limestone was used for the covers. House drains first
emptied into a sump or cesspit into which solid matter settled while
waste water flowed out into the street drains. Very long drainage
channels were provided at intervals with sumps for cleaning. It is a
wonder of archaeology that “little heaps of material, mostly sand, have
frequently been found lying alongside drainage channels, which shows...

that the debris was not always carted away when the drain was cleared”.
From Ernest Mackay, Early Indus Civilisation, 1948

Drainage systems were not unique to the larger cities, but
were found in smaller settlements as well. At Lothal for example, while

houses were built of mud bricks, drains were made of burnt bricks.

31.1 Analyse the possible reason behind the uniformity in the drainage

systems across the Harappan cities. 1

31.2 Analyse the implications of finding little heaps of material, mostly

sand, alongside drainage channels. 1
31.3 Assess the impact of Harappan drainage system. 2
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32. = feu Tu Ea i LY ufeu 3R 36 i feu e st @ I fafaw

T o foTe weh <areHt
iR Farat 21 & fop afe 0dr ekt 3 giret i w1 3rgEeor feha i
3Tk TS 39 Yo 3101 0L ¥ Jd 3R T8 §U, 31 3T<8] 0g ¥ HiHd, 30+ T9g, a4
G 7T Held-Tetd T T8 U e foh &9 3 ud 2 | gadl giE | gHI 2k 3TN
3R rferaaTTeft 8 ; 3TR B0 I8 TlehR T AT foh IThT 3T Sgar 3T Tt & & el
B | 9 Sog € W aun s Tl o6, fratfei qem st oA & T st 1§ St
9 fop 3 formep Towar o 89 i feran 8 | (g7Ten wimereh)
... B9 3T UM VB AR TR bl GUS BT o hRT 7 & T LT T 9Ia, qen
Termar b1 fefa @, fomes Sfiviigr <t foreft =t o 721 7, = et 3R anfea stemn
T goteel O W g B, 4T fh Tget & S e |

32.1 afRR o ferelt s g1 ANTEH 1 Seoi@ HIRT |

32.2 SR 0 TS 3TN IS 1 o offe 37 ST 9 b TR 7

32.3 TS IMEA o qgd AN <h! FHETToRh-3TRIh fRufa W affer & fammi 6 =men
T |

33. i feu Tu w1 S ufeu 3R 3ueh i feu e st @ S fafau

61/1/1
%

T <t FeTg 3TN TIRfi p % AR A
fraeht Temeet 6t weTiesi § U T | 9 g, oA | forar
39 ¥ 1 GY Igd &1 SIGAT §; T&T hi Wl IR 9 W, FATECR Hehdl TT1AT § 9
1 wEd, forgt gu UL < | ww Y T i 3R T warteat wvft st s # qof
8, 1 2 T 99 39 & § $S Wid shi 3TN forega qen 3=1a @it i, [eh fotw 78 wew
3T G & | T&T TAhe! shi T8 T8 3R A o T STeeIhd iR Te-g
JATEA 3R TATE & ST T ST Hebd & ; ST ST bl o T femam ST Tehat B 3R

Sl T 38 RIS o foTT SU3geRd 7 21 o8l oS TS 3R W3l % Ug T S Fehd ¢ |

33.1 b 7 el ToHeEe it waTfedi 1 avi foha yehR femam 2
33.2 T = 38 & W Wil o U 3hl I HATSHT bl 91 AT ?
33.3 TR - 3T T o FoTT f o1 ST vt ST SReTal hdl fem 7
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32. Read the following source carefully and answer the questions that follow :

A warning for Europe
Bernier warned that if European kings followed the Mughal model :

Their kingdoms would be very far from being well-cultivated and
peopled, so well built, so rich, so polite and flourishing as we see them.
Our kings are otherwise rich and powerful; and we must avow that they
are much better and more royally served. They would soon be kings of
deserts and solitudes, of beggars and barbarians, such as those are
whom I have been representing. (the Mughals)

.... We should find the great Cities and the great Burroughs (boroughs)
rendered uninhabitable because of ill air, and to fall to ruine (ruin)
without anybodies (anybody) taking care of repairing them; the hillocks
abandon’d, and the fields overspread with bushes, or fill'd with
pestilential marishes (marshes), as hath been already intimated.

32.1 Mention any one prominent contribution of Bernier. 1

32.2 How did Bernier describe the difference between European kingdom
and the Mughal territories ? 1

32.3 Explain Bernier’s views on the socio-economic status of people under
Mughal rule. 2

33. Read the following source carefully and answer the questions that follow :

On clearance and settled cultivation
Passing through one village in the lower Rajmahal hills, Buchanan wrote :

The view of the country is exceedingly fine, the cultivation,
especially the narrow valleys of rice winding in all directions, the cleared
lands with scattered trees, and the rocky hills are in perfection; all that
1s wanted is some appearance of progress in the area and a vastly
extended and improved cultivation, of which the country is highly
susceptible. Plantations of Asan and Palas, for Tessar (Tassar silk
worms) and Lac, should occupy the place of woods to as great an extent
as the demand will admit; the remainder might be all cleared, and the
greater part cultivated, while what is not fit for the purpose, might rear
Plamira (palmyra) and Mowa (mahua).

33.1 How did Buchanan describe the view of the lower Rajmahal hills ? 1

33.2 Why did Buchanan believe that the area had high potential for
improved cultivation ? 1

33.3 How did Buchanan propose utilising the land for economic benefits ? 2
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(A - 3meiea 99 )

34. 34.1 feU T YRA % YT W@T1-AH e W =faRad i 3ugd et @ sifera $Hifve
3R 3o A1 ferfam

(i) wrefem - Uk foenid gew Ry
(i) smUEdt - Slg T
(iil) (a) TR - el o ef &
e
(b) ST — HEAHTEAH WRA T Teh HETIO! ITaT

34.2 feu v YRd & H Yo ek WT-AFRT W 1857 o fogiE ¥ EeiYd € shal ol A
3R B ¥ 3iferd fomam T 3 | 3R] Ug=HT 3R 3k g1y Wi 78 WWist W sk
et W fefau |

e : TrforRaa we hae gidenfera wamf o fore sea @ 34 F WA W E |
34.1 WA foret Tk forehfira ggoan queere i AW fafan |
34.2 WRA H Foret T dig A o1 A fafav |
34.3 (a) WAl o 37efia foret weh & <t T ferfiam |
JreEn
(b) TosR amT= it TSy w1 W ferfau |
34.4 1857 fagig o fohdl g1 T gl o M fotfam |
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SECTION - E

(Map Based Question) 5

34. 34.1 On the given political outline map of India, locate and label the

following with appropriate symbols :

(1) Kalibanga - a mature Harappan site 1

(11) Amravati - a Buddhist site 1

(111) (a) Amber - a territory under the Mughals 1
OR

(b) Bijapur — An important town of Medieval India 1

34.2 On the same outline map, two places have been marked as A and B,
as the centres of revolt of 1857. Identify them and write their names

on the lines drawn near them. 2

Note : The following questions are for the Visually Impaired

Candidates only in lieu of Question No. 34.

34.1 Mention any one mature Harappan site in India. 1
34.2 Mention any one Buddhist site in India. 1
34.3 (a) Name any one territory under the Mughals. 1
OR
(b) Name the capital of Vijayanagara empire. 1
34.4 Write any two important centres of revolt of 1857. 2
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Map for Q. No. 34
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